
Révision du module 3 Révision jusqu'au module 3

7 x 3  = 21 5 x 6  = 30
44 x 2  = 88 28  - 9  = 19

687 x 10  = 6 870 70  + 60  = 130

5 x 8  = 40 120  - 8  = 112
5 x 6  = 30 60  - 50  = 10
4 x 9  = 36 20  - 9  = 11

3 x 9  = 27 169  - 8  = 161
4 x 5  = 20 143  - 8  = 135
5 x 6  = 30 5  + 6  + 8  = 19

5 x 6  = 30 7 x 3  = 21
473 x 10  = 4 730 711  - 10  = 701

3 x 9  = 27 8 x 9  = 72

7 x 6  = 42 11 x 9  = 99
5 x 8  = 40 127  - 10  = 117

880 x 10  = 8 800 90  - 10  = 80

332 x 2  = 664 8 x 9  = 72
8 x 9  = 72 3 x 9  = 27
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321 x 2  = 642 343 x 2  = 686
44 x 2  = 88 122 x 2  = 244

Avant évaluation Après évaluation


